
Tom is               years old. He was born with a condition 
called _________ syndrome, which means he’s ________ 
more quickly than normal.

It causes lots of problems that usually only happen to 
______ ________. He has difficulty ________ and he can’t 
______ or ______ very well. He also isn’t _________ properly, 
so he’s very ________ for his age.

Cockayne syndrome isn’t caused by ________ like most 
other illnesses. It’s a ________  ________, which means 

it’s something Tom was _______ with.

There’s no _______ for Tom’s 
condition, but __________ are 
trying to find one.

Fill in the gaps using the words below. The first one has 
been done for you.
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for more resources, go to www.jeansforgenes.org


